Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

©
w

0.25
0.2
0.15
0.1
0.05 ,
0 A AL

Ratio
T

1 1
1 —=— DQM_mkFit_TT_base_noSel
—

DQM_mkFit_TT_retrainOldFiles_v2_8iter2_noSel

0.9
osf---f-45i mﬂ il
07 e

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.02
00.018F
- E
%J.OlG_
®.014F
> o
D.012F
@

2 E
£ 0.01
@ E
0.008[
0.006F
0.004F
0.002

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

0
1.2

Ratio

1

0.8




	Contents
	Page 1


